ol Al A

t}h.AB = 5cm, DE = 9cm € ©, AACE

St
H

Ztd ABC 9} CDE =

2] 7_|1—/g-71-

Yol & 4

©
)

ot

@ 50 3 51 @ 52 3 53

@D 49



thS 1304 oABCD = g H o] Zo]7} 2 ----2---__]

2 342l n AP~ BQ-CR-DS =1 [
olth. AH4E PQRS 9] HolE? \

® 5-32 @ 4-3 ® 4-2v3
@ 5- 13 ® 2- 143



D

7|

x\

Fod=t.

che 1 o] AA2HE ABCD o o] A P 7} 9w, 12 —y?
S

o gre

3.

® 6 B 7 @ 8 B 9

D 5



o 282 A =90° % A4S
2 o= AAZE-S 7 Aolth x 9] 3he?
I —
D Z
\
yH
E{36cm?
B C
100cm?
F G

@D 5cm ® 6cm ® 7em @ 8cm

® 9cm



=23y

e 19
3 ABDE &
AH, BC, DF, EG € 1
o= Zlolt}, o = 27

iy rlo

@ % =a*+b?
® OCFGH & Az
® OCFGH = 2AABC

AB °
BEo] 7 %

@ AABC = AEAH

@® CH=a-b



@ /B >90° o9 b? > a® + ¢* °|th.

® /C <90°°|H 2 < a2 + b2 o]t}



7. T 299 A47HY ABC oA LA 7t Azt
oo, A% x = BT EH A7 (H x
7} 743 71 Woleh)

@D o7 @ 170 3 270 @ 370 3 470



T

/
i
I
m
|
\
\
B

6¢C

2 ¢ oBEGC 9] Hol&

Cm2



Al 0] ol7t A2} a + 4,a,a -4 2 LRl A= A2t ge]

9.



10.

AB =12, BC =9 91 4Zt9 ABC 9] 1 AB, BC 9] &
D, Eolgt & uff, A& AE S} AR CD 7} 3 o] Ht}. o]
ABC 9] 89| 4o]& +ofofet

e
-

]

o

el

=
A}

=]

Z
Z

g

=

T

o N



